CD19 PE IT (IgG1, J4.119)

NE

Counts
0 20 60 90 120 150120

rpp—r rpep— "
107 107 107
% PE
=
S
= LY
wnz
£
2
=
[nd}
=
107 107 107
¥ PE
E-
S ] MO
ﬂE%é
§ ]
327
= 3
Lar I
107 Ik 107 107 107
% PE
5] EO
0 ]
wT
= ]
224
o ]
s -
= —rrrrT—T—rrrrm
107 10° 107 107
¥ PE
E_
] BA
= ]
|'l'|'!—
£
=
(=]
L]
o
GM«- ;
107 Ik 107 107 107
% PE

045 PERCP
n? ml;IJ 1&3 10° o

045 PERCP
107 1u? 155 LR
1

10" 10

LENLELELILLRL) |
10%
% PE

10

1 10

3 4

045 PERCP
n? ml;IJ 1&3 10° o

TR

I
0 10

— R b
10 10 10

XPE

T
10

10" 10

LENLELELILLRL) |
10%
% PE

10

10

045 PERCP
107 1u? 155 LR
1

1 3 4

Jos i

045 PERCE
107 ml;IJ 1&3 ¥ qpd
1

RELRRRL | RELRRRL |
10 10

XPE

10 10

Page 2


Hinweis
Das ist sicher eine Verschleppung aus dem CD16-PE Röhrchen.
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